
 

 

  C-ARM-110_INST_7-21 
 

 

  

INSTALLATION INSTRUCTIONS C-ARM-110 
Passenger armrest for 3.3” section of wide consoles 

TOOLS REQUIRED: 
T-20 Torx driver   7/16” socket   Ratchet set 

 

PARTS and MOUNTING HARDWARE: 

QTY  DESCRIPTION     PART# 
1 Armrest console plate    24447 
1 Torx screws hardware kit   11114 
2 #8 x 3/8” Torx screws    13405 
2 1/4" serrated nut    16013 
2 1/4" Flat washer    16122 
2 1/4" x 3/4" Hex head bolt   16326 
 

24447 

16013 

16326 

16122 



 

 

  C-ARM-110_INST_7-21 
 

 

 

View of C-ARM-110 prior to install 

Tighten ¼” serrated nuts to lock height.  
Install is now complete.  

Slide armrest through top of Armrest console 
plate and determine height.  

Place Armrest console plate into rear, 3.3” section 
of console housing.  

Install ¼” x ¾” hex head bolts, washers and 
serrated nuts.  

Line up with holes in side of console. Some 
consoles may not have holes pre-drilled. Drilling 

holes may be required.  


	INSTALLATION INSTRUCTIONS C-ARM-110
	Passenger armrest for 3.3” section of wide consoles

